
 

                                                               
                          Pre-Board examination 201
matHematiCS                                                            
       Time : 3 to 413  Hours                    
lkekU; funsZ'k % 

(i) lHkh iz'u vfuok;Z gSaA  

(ii) bl iz'u & i= esa 30 iz'u gSa tks pkj [k.Mksa & v] c] l vkSj n esa foHkkftr gSaA 

(iii)  [k.M v esa ,d & ,d vad okys 6 iz'u gSaA [k.M c esa 
 [k.M l esa 10 iz'u rhu&rhu vadks ds gSaA [k.M n esa 

(iv) iz'u&i= esa dksbZ lexz fodYi ugha gSA rFkkfi 
fodYi iznku fd, x, gSaA ,sls iz'uksa esa vkidks fn, x, fodYiksa esa ls dsoy ,d iz'u gh djuk gSA 

(v) dSydqysVj ds iz;ksx dh vuqefr ugha 

General Instructions: 
(i)  All questions are compulsory. 
(ii) This question paper consists of 
(iii) Section A contains 6 questions of 

each, Section C contains 10 questions of 
marks each.  

(iv) There is no overall choice. However, an internal choice has been provided in four questions 
of 3 marks each and 3 questions of 
alternatives in all such questions. 

(v) Use of calculators is not permitted 

iz'u la[;k 1 ls 6 rd izR;sd iz'u 1 vad dk gSA   

(1) 

Board examination 2018 -19 
matHematiCS                                                            

                                                                                   Maximum Marks : 

tks pkj [k.Mksa & v] c] l vkSj n esa foHkkftr gSaA  
iz'u gSaA [k.M c esa 6 iz'u gSa ftuesa ls izR;sd 2 vad dk gSA

vadks ds gSaA [k.M n esa 8 iz'u gSa ftuesa ls izR;sd 4 vad dk gSA 

&i= esa dksbZ lexz fodYi ugha gSA rFkkfi 3 vadks okys 4 iz'uksa esa vkSj 4 vadks okys 
fodYi iznku fd, x, gSaA ,sls iz'uksa esa vkidks fn, x, fodYiksa esa ls dsoy ,d iz'u gh djuk gSA 

ugha gSA  

questions are compulsory.  
This question paper consists of 30 questions divided into four Sections 

questions of 1 mark each. Section B contains 6 questions of 
questions of 3 marks each. Section D Contains 

There is no overall choice. However, an internal choice has been provided in four questions 
questions of 4 marks each. You have to attempt only one of the 

alternatives in all such questions.  
permitted  

[k.M & v 

SECTION – A 

 
matHematiCS                                                                CLaSS x 

Maximum Marks : 80                                                       

vad dk gSA  
vad dk gSA  

vadks okys 3 iz'uksa esa vkarfjd 
fodYi iznku fd, x, gSaA ,sls iz'uksa esa vkidks fn, x, fodYiksa esa ls dsoy ,d iz'u gh djuk gSA  

questions divided into four Sections – A, B, C and D.  
questions of 2 marks 

marks each. Section D Contains 8 questions of 4 

There is no overall choice. However, an internal choice has been provided in four questions 
attempt only one of the 



(2)  

Question numbers 1 to 6 carry 1 mark each.  
1. NksVh ls NksVh vHkkT; la[;k rFkk NksVh ls NksVh HkkT; la[;k dk e-l- (HCF ) D;k gSA 

What is the HCF of smallest prime number and the smallest composite number?      
                                                                            OR 

fyf[k, fd 
2 45 3 20

2 5


 dks ljy djus ij vifjes; vFkok ifjes; la[;k esa ls dkSu lh la[;k izkIr gksrh gS\  

Write whether 2 45 3 20
2 5
  on simplification gives an irrational or a rational number.  

2.  ;fn x = a, y = b  lehdj.k ;qXe x – y = 2 rFkk x + y = 4 dk ,d gy gks rks a rFkk b ds eku Kkr dhft,A  

 If x = a, y = b is the solution of the pair of equations x – y = 2 and x + y = 4, find the values of a and b.  
3.  ;fn 2x 3  rFkk x 3   ,d f}?kkrh lehdj.k 2ax 7x b 0   ds ewy gS] rks a rFkk b ds eku Kkr dhft, A 
       If  2x 3  and x 3   are roots of the quadratic equation 2ax 7x b 0   , find the values of a and b. 

                                                                                              OR       
              ;fn 25x 13x k 0    dk ,d ewy nwljs ewy dk O;qRØe gks rks K dk eku Kkr dhft,A  

    If one root of 25x 13x k 0    is the reciprocal of the other root, then find value of k.    
4. fn;k gS fd C ~ PQR  gS] ;fn 

AB 1
PQ 3  gS] rks

C
PQR




 {ks = Qy

{ks = Qy
Kkr dhft,A   

Given  C ~ PQR  ,  if AB 1
PQ 3 , then find ar C

ar PQR

  .   

5. nks ?kuksa vk;ruksa dk vuqikr 1: 27 gSA buds i"̀B {ks=Qyksa dk vuqikr Kkr dhft,A  

 Two cubes have their volumes in the ratio 1 : 27. Find the ratio of their surface areas.                 
6. ;fn C ds 'kh"kZ fcUnq A (5, 1) B (1,5) rFkk C(-3, -1) gksa rks ekf/;dk ADdh yEckbZ Kkr dhft,A  

 A (5, 1) B (1,5) and C (-3 , -1) are the vertices of C . Find the length of median AD.  
 [k.M & c 

SECTION – B 
iz'u la[;k 7 ls 12 rd izR;sd iz'u 2 vadks dk gSA  

Question numbers 7 to 12 carry 2 marks each.  
7. fn;k gS fd 3  ,d vifjes; la[;k gS] rks fl) dhft, fd  2 3  ,d vifjes; la[;k gSA 



 

 Given that 3  is an irrational number, prove that 
8.  C  dh Hkqtk BC ij X ,d fcUnq gSA XM

dks M ij dkVrs gSA MN rFkk CB c<+kus ij T 
 X is a point on the side BC of C . XM and XN are drawn parallel to AB and AC respectively meeting AB in N and 

AC in M. MN Produced meets CB Produced at 
9.  vkÑfr 1 esa C esa 0B 90   ftlesa BC= 48 

vUr% or̀ dh f=T;k r Kkr dhft,A  

 In fig. (1), ABC is triangle in which B 90 
centre is O. Find radius r of in-circle.    

10.   og vuqikr Kkr dhft, ftlesa fcanq P (4, m)
eku Kkr dhft,A  

Find the ratio in which P (4, m) divides the line segment joining the points A(2,3) and B (6, 
11. fl) dhft,%  

  
22 21 tan A 1 tan A tan A1 cot A 1 cot A

          

 eku Kkr dhft,%  

 
0 0 0 0
0 0 0 0 0 0 0

cos58 sin 22 cos38 cosec52
sin32 cos68 3 tan18 tan35 tan60 tan 72 tan 55 

  Prove that  
22 21 tan A 1 tan A tan A1 cot A 1 cot A

               

Evaluate  


0 0 0 0
0 0 0 0 0 0 0

cos58 sin 22 cos38 cosec52
sin32 cos68 3 tan18 tan35 tan60 tan 72 tan 55 

(3) 

is an irrational number, prove that  2 3  is an irrational number.   
XM rFkk XN Øe'k% Hkqtk AB rFkk AC ds lekUrj bl izdkj [khaps x, gSA fd 

T nj feyrh gSaA fl) dhft, fd TX2 = TB × TC.  
C . XM and XN are drawn parallel to AB and AC respectively meeting AB in N and 

AC in M. MN Produced meets CB Produced at T. Prove that TX2= TB × TC .                          
BC= 48 ls-eh- rFkk AB = 14 ls-eh- gSA f=Hkqt esa ,d vUr% òr [khapk

 

0B 90  , BC = 48 cm and AB = 14 cm. A circle is inscribed in the triangle, whose 
    

P (4, m)] fcanqvksa A(2,3)  rFkk B (6, -3) dks feykus okys js[kk[k.M dks foHkkftr djrk gSA vr% 

Find the ratio in which P (4, m) divides the line segment joining the points A(2,3) and B (6, 

2tan A   

vFkok 


0 0 0 0

0 0 0 0 0
cos58 sin 22 cos38 cosec52

3 tan18 tan35 tan60 tan 72 tan55   

tan A
    

 

OR 


0 0 0 0

0 0 0 0 0
cos58 sin 22 cos38 cosec52

3 tan18 tan35 tan60 tan 72 tan55
                                                                              

ds lekUrj bl izdkj [khaps x, gSA fd AB dks N rFkk AC 

. XM and XN are drawn parallel to AB and AC respectively meeting AB in N and 
 

gSA f=Hkqt esa ,d vUr% òr [khapk x;k] ftldk dsUnz O gSA 

, BC = 48 cm and AB = 14 cm. A circle is inscribed in the triangle, whose 

dks feykus okys js[kk[k.M dks foHkkftr djrk gSA vr% m dk 

Find the ratio in which P (4, m) divides the line segment joining the points A(2,3) and B (6, -3). Hence find m.  

                                                                              



(4)  

12. ,d yac òŸkh; csyu rFkk 'kadq ds vk/kkj leku gSA rFkk Å¡pkb;k¡ Hkh leku gSaA ;fn buds oØ ì"Bh; {ks=Qyksa dk vuqikr 8 % 5 gks rks n'kkZb, 
fd budh f=T;k rFkk Å¡pkbZ dk vuqikr 3 % 4 gSA  

 A right circular cylinder and a cone have equal bases and equal heights. If their curved surface areas are in the 
ratio 8 : 5, show that the ratio between radius of their bases to their height is 3 : 4.  

[k.M & l  

SECTION – C  
iz'u la[;k 13 ls 22 rd izR;sd iz'u 3 vadkas dk gSA  

Question numbers 13 to 22 carry 3 marks each.  
13. ;wfDyM foHkktu ,yxksfjFe ds izk;ksx ls la[;kvksa 867 vkSj 255 dk HCF Kkr dhft,A  

 Using Euclid’s division algorithm find the HCF of the numbers 867 and 255.    
14. ,d ok;q;ku vius fu/kkZfjr le; ls 30 feuV ds foyEc ls pykA 1500 fdyksehVj dh nwjh ij vius xarO; ij Bhd le; ij igq¡pus ds fy, 

bls viuh lkekU; pky dks 100 fd-eh-@?kaVk c<+uk iM+kA ok;q;ku dh lkekU; pky Kkr dhft,A  

A plane left 30 minutes late than its scheduled time and in order to reach the destination 1500 km away in time, it 
had to increase its speed by 100 km/h from the usual speed. Find its usual speed.    

15.  ,d lekarj Js<+h ds pkj Øekxer inksa dh la[;kvksa dk ;ksx 32 gS rFkk igyh vkSj vkf[kjh la[;k ds xq.kuQy dk chp dh nks la[;kvks a ds 
xq.kuQy ls vuqikr 7% 15 gS] la[;k,¡ Kkr dhft,A   

The Sum of four consecutive numbers in an AP is 32 and the ratio of the product of the first and the last term to the 
product of two middle terms is 7  : 15. Find the numbers.    

                                                                                                  OR 
fdlh lekUrj Js<h esa ;fn izFke n inksa dk ;ksx 3n2 + 5n rFkk Kok¡ in 164 gks] rks k dk eku Kr dhft,A  

In an A.P if sum of its first n terms is 3n2 + 5n and its kth term is 164, find the value of K.  
16. ;fn fdlh lekUrjprqHkqZt ds nks vklUu 'kh"kksZ ds funsZ'kkad (3, 2) rFkk (1, 0) gks rFkk nksuksa fod.kZ ijLij fcUnq ¼2] & 5½ ij lef}Hkkftr djrs 

gSa] rks nksuksa vU; 'kh"kZ fcUnqvksa ds funsZ'kkad Kkr dhft,A  

vFkok 

 ;fn ,d f=Hkqt ftlds 'kh"kZ (x,3), (4, 4) rFkk (3, 5) gSa] dk {ks=Qy 4 oxZ bdkbZ gS] rks X Kkr dhft,A  

 If coordinates of two adjacent vertices of a parallelogram are (3, 2), (1, 0) and diagonals bisect each other at              
(2, -5), find coordinates of the other two vertices.  

OR 
 If the area of triangle with vertices (x, 3) (4, 4) and (3, 5) is 4 square nits, find x.    
17. vkÑfr 2 esa 5 ls- eh- f=T;k okys òŸk dh ,d thok AB dh yEckbZ 8 ls- eh- gSA fcUnq A  rFkk B ij [khaph xbZ Li'kZ&js[kk,¡ ijLij fcUnq P ij 

feyrh gSA AP dh yEckbZ Kkr dhft,A  



 

 fl) dhft, fd fdlh oxZ dh ,d Hkqtk ij cuk, x, leckgq f=Hkqt dk {ks=Qy] blds fod.kZ ij cuk, x, leckgq f=Hkqt ds {ks=Qy dk 
vk/kk gksrk gSA 

 In fig. (2) AB is a chord of length 8 cm of a circle of radius 5 cm. The tangents to the ci
Find the length AP. 

     

 Prove that the area of an equilateral triangle described on one side of the square is equal to half the area of the 
equilateral triangle described on one of its diagonal

18. ,d f=Hkqt dh jpuk dhft, ftldh Hkqtk,¡ 6 ls

f=Hkqt dh laxr Hkqtkvksa dk 
3
5 gksaA  

Construct a triangle with sides 6 cm, 8 cm and 10 cm. Construct 
corresponding sides of original triangle. 

19. fl) dhft,% 
3

3
sin A 2sin A tan A2cos A cosA

   

Prove that : 3
3

sin A 2sin A tan A2cos A cosA
  .  

20.  vkÑfr &3 esa Nk;kafd Hkkx dk {ks=Qy Kkr dhft,A tgk¡ 

BC, CD rFkk DA ds e/; fcanqvksa Øe'k% P, Q, R
3 .14 yhft,]    

(5) 

 

vFkok 

fl) dhft, fd fdlh oxZ dh ,d Hkqtk ij cuk, x, leckgq f=Hkqt dk {ks=Qy] blds fod.kZ ij cuk, x, leckgq f=Hkqt ds {ks=Qy dk 

In fig. (2) AB is a chord of length 8 cm of a circle of radius 5 cm. The tangents to the circle at A and B intersect at P. 

OR 
Prove that the area of an equilateral triangle described on one side of the square is equal to half the area of the 

equilateral triangle described on one of its diagonal 
jpuk dhft, ftldh Hkqtk,¡ 6 ls-eh-] 8 ls-eh- rFkk 10 ls-eh- gSA fQj ,d vU; f=Hkqt dh jpuk dhft,A ftldh Hkqtk,¡ ewy 

8 cm and 10 cm. Construct another triangle whose sides are 
corresponding sides of original triangle.  

tan A

tan A  

vkÑfr &3 esa Nk;kafd Hkkx dk {ks=Qy Kkr dhft,A tgk¡ oxZ ABCD ds 'kh"kks± A, B, C rFkk D dks dsUnz eku dj [khaph xbZ pkisa Hkqtkvksa 

P, Q, R rFkk S ij nks & nks ds tksM+ksa esa dkVrh gSa rFkk oxZ dh Hkqtk 12 lseh gSA           

fl) dhft, fd fdlh oxZ dh ,d Hkqtk ij cuk, x, leckgq f=Hkqt dk {ks=Qy] blds fod.kZ ij cuk, x, leckgq f=Hkqt ds {ks=Qy dk 

rcle at A and B intersect at P. 

Prove that the area of an equilateral triangle described on one side of the square is equal to half the area of the 

gSA fQj ,d vU; f=Hkqt dh jpuk dhft,A ftldh Hkqtk,¡ ewy 

another triangle whose sides are 3
5  of the 

dks dsUnz eku dj [khaph xbZ pkisa Hkqtkvksa AB , 
ij nks & nks ds tksM+ksa esa dkVrh gSa rFkk oxZ dh Hkqtk 12 lseh gSA           [   = 



 

 ,d oxZ dh Hkqtk 10 ls-eh- gSA bl oxZ ds ifjoŸ̀k ds chp ds {ks= dk {ks=Qy Kkr dhft,A 

 The side of a square is 10 cm. Find the area between inscribed and circumscribed circles of the square. 
21. 'kadq ds fNUud ds vkdkj dh ,d ckYVh ds fupys rFkk Åijh fdukjksa ds O;kl Øe'k% 10 lseh rFk 30 lseh gSaA ;fn ckYVh dh Å¡pkbZ 24 lseh 

gS] rks Kkr dhft, 

 (i)  ckYVh dks cukus esa yxus okyh /kkrq dh 'khV dk {ks=Qy 

 (ii)  ckYVh cukus esa lkekU; IykfLVd dks D;ksa ugha yxkuk pkfg,

The diameters of the lower and upper ends of a bucket in the form of a frustum of a cone are 10 cm and 30 cm 
respectively. If its height is 24 cm, find: 
(i) The area of the metal sheet used to make the bucket. 
(ii) Why we should avoid the bucket made by ordinary plastic? [ Use 
ds caVu eas cny dj bldk rksj.k [khafp,% 

oxZ 0 – 15 15 – 
Ckjackjrk 6 8 

 By changing the following frequency distribution ‘to less than type’ distribution, draw its ogive. 
Classes 0 – 15 15 – 
Frequency 6 8 

iz'u la[;k 23 ls 30 rd izR;sd iz'u 4 vadksa dk gSA 

Question numbers 23 to 30 carry 4 marks each.
23. m rFkk n ds fdu ekuksa ds fy, jSf[kd lehdj.kksa 

 3x + 4 y = 12  
 (m + n) x + 2 (m – n ) y = 5m – 1 ds vifjfer :i

 For what values of m and n the following 
 3x + 4 y = 12 ;(m + n) x + 2 (m – n ) y = 5m 

(6) 

 
vFkok 

gSA bl oxZ ds ifjoŸ̀k ds chp ds {ks= dk {ks=Qy Kkr dhft,A  

OR 
The side of a square is 10 cm. Find the area between inscribed and circumscribed circles of the square. 

ds fupys rFkk Åijh fdukjksa ds O;kl Øe'k% 10 lseh rFk 30 lseh gSaA ;fn ckYVh dh Å¡pkbZ 24 lseh 

ckYVh dks cukus esa yxus okyh /kkrq dh 'khV dk {ks=Qy  

ckYVh cukus esa lkekU; IykfLVd dks D;ksa ugha yxkuk pkfg,\ [    yhft,] 
The diameters of the lower and upper ends of a bucket in the form of a frustum of a cone are 10 cm and 30 cm 
respectively. If its height is 24 cm, find:  
(i) The area of the metal sheet used to make the bucket.  

he bucket made by ordinary plastic? [ Use    ] .  22. fuEu ckjEckjrk caVu dks ^ls de izdkj* 

 30  30 – 45       45 – 60            60 
10 6 4 

By changing the following frequency distribution ‘to less than type’ distribution, draw its ogive. 
 30  30 – 45       45 – 60            60 

10 6 4 
[k.M & n  

SECTION – D  
vadksa dk gSA  

Question numbers 23 to 30 carry 4 marks each. 
ds fdu ekuksa ds fy, jSf[kd lehdj.kksa  

ds vifjfer :i esa vla[; gy gSaA  

alues of m and n the following system of linear equations has infinitely many solutions.
n ) y = 5m – 1 .      

The side of a square is 10 cm. Find the area between inscribed and circumscribed circles of the square.   
ds fupys rFkk Åijh fdukjksa ds O;kl Øe'k% 10 lseh rFk 30 lseh gSaA ;fn ckYVh dh Å¡pkbZ 24 lseh 

The diameters of the lower and upper ends of a bucket in the form of a frustum of a cone are 10 cm and 30 cm 

fuEu ckjEckjrk caVu dks ^ls de izdkj* 

60 – 75  
By changing the following frequency distribution ‘to less than type’ distribution, draw its ogive.  

60 – 75  

system of linear equations has infinitely many solutions. 



(7)  

24. ;fn cgqin  4 3 22x 9x 5x 3x 1     ds nks 'kwU;d  2 3  rFkk  2 3  gSa rks blds lHkh 'kwU;d Kkr dhft,A   

Find all Zeroes of the polynomial   4 3 22x 9x 5x 3x 1     if two of its zeroes are  2 3  and  2 3 .   
25. ,d ok;q;ku vius fu/kkZfjr le; ls 30 feuV ds foyEc ls pykA 1500 fdyksehVj dh nwjh ij vius xarO; ij Bhd le; ij 

igq¡pus ds fy, bls viuh lkekU; pky dks 100 fd-eh-@?kaVk c<+uk iM+kA ok;q;ku dh lkekU; pky Kkr dhft,A  

vFkok 

 x  dk eku Kkr dhft,% 
1 1 1 1 , a 0, b 0, x 0a b x a b x         

A plane left 30 minutes late than its scheduled time and in order to reach the destination 1500 km away in time, it 
had to increase its speed by 100 km/h from the usual speed. Find its usual speed.    

OR 
 Solve for x : 1 1 1 1 , a 0, b 0, x 0a b x a b x        .    
26. fl) dhft, fd nks le:i f=Hkqtks ds {ks=Qyksa dk vuqikr mudh laxr Hkqtkvksa ds vuqikr ds oxZ ds cjkcj gksrk gSA  

Prove that the ratio of the areas of two similar triangles is equal to the ratio of squares of their corresponding 
sides.  

vFkok 

,d leckgq f=Hkqt ABC esa Hkqtk BC ij ,d fcanq D bl izdkj gS fd BCBD 3
1  gSA fl) dhft, fd    2 29 AD 7 AB  In an 

equilateral C,D  is a point on side BC such that BCBD 3
1 . Prove that    2 29 AD 7 AB  .     

27. ,d igkM+h ds 'kh"kZ fcUnq dk ,d Vkoj ds ikn fcUnq ls mUU;u dks.k 600 gS rFkk Vkoj ds 'kh"kZ fcUnq ls igkM+h ds ikn dk voueu dks.k 300 dk 
gSaA ;fn Vkoj dh Å¡pkbZ 50 ehVj gks rks igkM+h dh Å¡pkbZ Kkr dhft,A  

vFkok 

 leqnz&ry ls 100 eh Å¡ph ykbV &gkml ds f'k[kj ls ns[kus ij nks leqnzh tgktksa ds voueu dks.k 300 vkSj 450 gSaA ;fn ykbV &gkml ds ,d 

dh vksj ,d tgkt nwljs tgkt ds Bhd ihNs gks] rks nksuksa tgktksa ds chp dh nwjh Kkr dhft,A  [ 3 1.7332 yhft,A ] 
The angle of elevation of the top of a hill at the foot of a tower is 600 and the angle of depression from the top of 
tower to the foot of hill is 300. If tower is 50 metre high, find the height of the hill.   

OR 
 As observed from the top of a 100 m high light house from the sea-level, the angles of depression of two ships are 

300 and 450. If one ship is exactly behind the other on the same side of the light house, find the distance between 
the two ships . [ Use 3 1.7332 ] .     

28. ,d euq"; ,d vukFkky; dks 10 ,Y;qfeuf;e dh ckfYV;k¡ nku esa nsrk gSA izR;sd ckYVh dh Å¡pkbZ 20 ls-eh- gSA blds Åijh rFkk fupys fljksa 
ds v/kZO;kl Øe'k% 36 ls-eh- rFkk 21 ls-eh- gSA 10 ckfYV;ksa dk [kpZ Kkr dhft, ;fn ,Y;qfeuf;e 'khV dk ewY; :- 42 izfr 100 oxZ ls-eh- 
gksA  



(8)  

A man donates 10 aluminum buckets to an orphanage. A bucket made of aluminum is of height 20 cm and has its 
upper and lowest ends of radius 36 cm and 21 cm respectively. Find the cost of preparing 10 buckets if the cost of 
aluminum sheet is Rs. 42 per 100 cm2.      

29. fuEufyf[kr vk¡dM+ksa dk ek/;] rFkk cgqyd Kkr dhft,%  

oxZ 10 – 20  20 – 30   30 – 40  40 – 50 50 – 60 60 – 70  70 – 80  
ckjEckjrk  4 8 10 12 10 4 2 

Find the mean and mode for the following data:  
Classes 10 – 20  20 – 30   30 – 40  40 – 50 50 – 60 60 – 70  70 – 80  
Frequency 4 8 10 12 10 4 2 

30. 52 iŸkksa dh rk'k dh xÏh ls fpM+h dk ckn'kkg] csxe rFkk xqyke gVk fn, x;sA 'ks"k rk'k dh xÏh dks vPNh izdkj QasVk x;kA blesa ls ,d 
iŸkk fudkyk x;kA izkf;drk Kkr dhft, fd fudkyk x;k iŸkk  

 (i)  gqde dk iŸkk gSA 

 (ii)  ,d dkyk ckn'kkg gSA 

 (iii) ,d fpM+h dk iŸkk gSA  

 (iv) ,d xqyke gSA  

 The king, Queen and Jack of clubs are removed from a pack of 52 cards and then the remaining cards are well 
shuffled. A card is selected from the remaining cards. Find the probability of getting a card  

 (i)  of spade  
 (ii) of black king  
 (iii) of club  
 (iv) of jacks     
                                                                                          *****************     
 
 क̱फटŊ जोन से बाहर िनकािलए, आप तभी आगे बढ़ सकते है जब आप कुछ नया आज़माने को तैयार है 
 

  


